ff



ATEIFAITR



J

w#Ji
iR
i

M1

- 60°L11 [68°GIL [000°L¢C

— G901 [G¥'601 [000°9C

250

1¢'v0l | 10°€01 |000°GE

%

— ¥8'L8 |¥996 [000%¢

/l\?iﬂiﬂ%{ ‘
p/

— L€06 | 1168 |000°€C

Li%is

- €0'v8 (€828 [000¢CC

— 16'8L |ELLL |000'}C

RS
EER

¥8€L |¥9°¢L [000°0C

RiEE
20.0

] ¥L89 |¥GL9 |0006)

7 8L°€9 |[85¢9 |000°8)

BRER I

l

7 LL'8G | LG'LS |000°LL

€8'%G [€9°€G [0009)

==
T HFIE
|

HATLE

15.0

8¢°1G | 886y |000°GH

ER¢I
!

|
Z (km)

089y |[0€Gy [000%}

iz 2

9lcy [99°0v |000°€H

RiE

N 8E'LE |[88'GE |000°CH

N 1GCE [ LO'1E |000°}I

6L°L¢ [6°9¢ |000°0}

10.0

7 LE'GZ | 19°€C |000°6

] 9¢'€¢ |9L°1¢ |000°8

] 8€’1¢ |88'61 |000°L

7 9¢'81 |9L791 0009

5.0

¥&'Gl |¥0¥l [000°G

'

7 08¢l [0€L1 |000Y

] 0201 |0L8 |000°€

3]
K1

B
FAGA B

T
=

A
i

L

YA
=
=]
=
=]

7 '8 |269  |000°C

FRIAR
RPN

=
B

7 669 |[60G |000°t

029 |[oL'€ 0000

0.0

140.0
1300 |-

0.0

1200 |-
1100 |-
100.0

900 |-
800 |-
700 |-
600 |-
50.0

400 |-
300 |-
200 |-
100 |-
-10.0

-

=1
7K 4L
Giil
718

%

(TPrm)
- E2 S
(TP.m)
E =
(TP.m)
i
(km)




FKARICEET e T D5
(ERX)



#&R1:90, 000

B9 3T DS

~

K3tk

.,
2y

=i

<
2

FY. BIDOHENEDLLIEENHYET.

ER(

T

EOBR

]
B

X)) S%&D

..

i
LUt [ Wy

i
;.‘(\'
-
7

5000m

4000

3000

2000

1000

0




FKARICEET e T D5
(tslEfr[X))



LR MNRQYBECURGRAOTH " PIIEHMEEAXBLEORS "$T
CERN I THANEMIEONENYWHAVEZZ A >CNEEE "M ERIE 0 PTPED N 2 EE CRIEE (F

(W) JWETHE 002 061 001 05 0
00T 001
) = 50T
o7 iness——— L ol
STT TNEEE & // o
4]} 4}

(w1 e
TLRb009¥%92 I EIM

(W) JETE 002 051 001 05 0
077 07
7 = = o7

Il|||\\\\|.|.
0 — D i
%5 T EEE D — g
09 09
(Wl
oekboovd9 1 NIEM

(W) JETHRE 002 061 001 05 0
E T
o or
B e
0z o - 07|
s TN EEE D ~ =7
0% 0c

Wyl 5
oeoosd8 NI EMm
IS B B [ BB ——
LN E1ICAT T J—
6 1

LR = 1[0 [IEm




